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	Representation
	Relation?
	Function?
	Supporting Reasons

	

	Yes
	
	

	

	Yes
	
	

		A
	B

	−4
	0

	2
	8

	5
	9

	2
	3

	6
	1



	Yes







	
	

	Set A = {(2,9), (3,4), (3,0), (8,2)}

	Yes
	
	














Key
	Representation
	Relation?
	Function?
	Supporting Reasons

	

	Yes
	No
	Horse is paired with two elements in the second set.

	

	Yes
	Yes
	Each element in domain is paired with one and only one element in range.

		A
	B

	−4
	0

	2
	8

	5
	9

	2
	3

	6
	1



	Yes







	No
	2 is paired with 8 and 3.

	Set A = {(2,9), (3,4), (3,0), (8,2)}

	Yes
	No
	3 is paired with two elements in a range.
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Does anyone know what a relation is? Apart from mathematics, what is a relation?
Students may provide examples of husband, wife; child, mother; friends; etc.

Now, let’s peruse some relations.

m Vou have 2 derts o review.
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